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Answer Question Na. 1 which ts compulsory
and any five from the rest.
The hgurgs in the ngfi-hand manmin
Ingicate marks,

1. Answer the faliowing in brial. Provide suitable
iysiration wheraevar necessary, | 2%10
(@) Wha! is the purposs of DFT 2 Is It a

linear aperation ?

(B} Drawa PWM and PPM wavaformas:

(¢) What ls-the nead of signafing In a POM
syakam ¥

PTO.



() Show tha specirum of 3 BPEK i Ihe dala
rate 15 8 bps.

ia] State the properies of MSK modulation,

ify s BFSK a powsr effiment modulation
1achnigue 7 Justify. T

lg) Bring ot twa diflarences between thiamal
nolsa and quaniization noise.

() What is the power of & pariodic signal
given by Asinw,l 7

(' Whal s meant by an dplimium filter 7
Why s it called 5o 7

(i Givathe signal space represantation of
BPSK.

2 (o) Give-tne circuits for gemerating PARM,
PWM and PPM signals. Draw sullable
wavatorms for 2ach n ordar 1o justity
your Bnswat. c]

(6} Compare defta modulstion dnd adaptiva
delta modulabon, 5
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4. {a) What is the advantage ol OQPSK over
BPESK 7 Give the signal space Meprmsern-
taticn of both af the modulstion SCREemas.

242

(b) Dotlve an expression for ihe bit, arror
probabiity of a BPSK signal. 6

4 (&) What s the need for pulss shaping 7
Explain hrow 151 is aveided in NyruiE!'s
criterion. 5

by Comparz the it eron probablity of
BPSK and BFSK. 5

5 {a) Forwhatiype of noise is Shanon's chianadl
capacity Mecrem vald 7 HBRco compule
the capasity of a lypical lsiphane channe.

3

(b) Why parity check it coding i done 7
How is it differert from line pading T
\What laictors determing the probabilty of
amor with coding 7 Justity. 5
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(@)

(i)

la)

(b)

(&)

(b}

Why timing extraction is required in a
digital communicahon:system 7 Explain

any schame: lor this:

Wit s an algebiraic code 7 Disodss any.

N such code.

5

Compara BPFSK and DPSK with the help
of appropriate dﬂmmns whersver naces-
SHTY, Iy which casn is the bit error pmb—

ability highar-and why 7

5

15 a convolutlonal code an algebraic code 7
Juslity, Discuss & convolulional code

qanaration.

5

What is basebantd lransmission 7 Explain

a basehand signal recelver by axplaining
each blocic. Give an example of basshand

transmission.

5.

What i meant by bangdwidth—SNR

tradeat! 7 What is its significances 7

5



	3DCE08_11.pdf
	3DCE08_22.pdf
	3DCE08_33.pdf
	3DCE08_44.pdf

